DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH REMAINDER Name:
Time: Score: J
361 5357 + 1 = 376) 9410 =5 =
362 19323 + 2 = 51 5904 =+ 1 =
363) 28760 <+ 6 = 378) 20555 + 6 =
s6) 12301 =2 = 379 37844 + 7 =
365 68750 + 8 = 300 36112+ 8 =
366) 58923 + 6 = 1) 60494 =7 =
367 36844 + 7 = 382) 10580 + 2 =
368) 39845 = 4 = 383) 20432 = 10 =
369) 5971 + 9 = s81) 5233 =4 =
370) 66738 + 10 = 389) 27864 + 8 =
s 20324 + 9 = 386) 222 =7 =
312) 2381 + 1 = 37 4931 + 7 =
373) 9392 + 1 = s89) 61304 = 10 =
s11) 39217 +4 = 39 3553 + 6 =
3m) 14196 =4 = 3900 6332 + 5 =
Mathematics: Division - Level T - Horizontal - Set 3 14 culu
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